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Answer all questions from 1 to 6. 1 ymab 6 cusaw)gs gl eatoayemtbene
Each carry one score. (6x1=86) | grmosawme. 1 miaaod allme. (6 x1=8)
1. Movement from one status or L aneec) eoegesicd amodeled mimry
occupation to another is ........... aefon aealloieaesn amadaiea
2) social order BEOT BAG QO[O .o

b) social mobility a) majdile ao

) social stabus b) mmpadle oieimanam

d) social control €) mapde aeal

d) majdle dameme

2.  Complete the chart. 2. 2085 aydoriadens,
Caste and race G. 8. Ghurye omeiles momlays | . agmd seye
in India CUotBLjo
Living Tradition | ............... m&loy aonmine
3. The process by which we learn 3. moo mupoaia Stanadwimmitnm
to become members of society (GRSl
ol e .

- 4. The researcher trying to look at 4. oegoroges 0¥ alalosim
his or her research through the aflomynesoen mutMa wecunamem
eves of others is called ......... @modellesoemym eilmwoen . .............. .
a) relativity a) apaladlenm
b) self-reflexivity b) meia wolansme
¢} rationality e) @yemlalom
d) retrievability d) efdagssend cuad
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Answer all questions from 7 to 11,

Each carries two scores, {3 x2=10)

7. Differentiate mechanical
solidarity  from organic
solidarity,

8. Explain macrosociology with
examples.

9. Briefly explain the symptoms of
welfare state.

10. What is emperical investigation?

11. Comment on pluralities and
inequalities among societies,
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The way it works for others

beyond their own interests i

Name the Indian Sociologist,
who conducted fieldwork among

tribal communities,
a) G. 8. Ghurye

b) M. N. Srinivas

¢) Sarachandra Ray

d) D. P. Mukherjee
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oieme @My myamlod aoellmasal
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U ey s

Gruoensioaslmi mmaceti?
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a) allagmi, aeyaq
b) ago.ngm. wlriousms
€} medage aoo

d) edlall. mpeudbed

7 mymad 11 cusm aggo saloyanadana

Sameeavmie. 2 migamod allme. {5 x2=10)
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11.
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ogyrilcuemesycl o f cullewial gy,
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Answer any three questions from

12 to 15. Each carries three

SCOres.

12,

13.

14,

135.

Environmental problems can be
considered as social problems.

Explain.

The functionalist perspective
argues that modern industrial
societies function best if women
look after the family and men
earn the family livelihood. Do

you agroe? Why?

Examine the importance of
scientific methods in the study

of sociology.

Distinguish between status and

role,
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(3x%3=09)
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12 o)mab 15 cuenwgg sarsnyemgle

agemelele 3 agepanslal pameawyms.

3 mizgamod alme.

12,

13.

14,

15.
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